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14. (1) KPHEE

(2) fih

15. (1) Fe,0; + 3CO i 2Fe + 3CO;,
(2) Y3

16. (1) HMFEFRE
(2) &

(3) Cu,0~ SnO,
(4) A

(5) CD



17.

18.

19.

20.

21.

22.

23.

24.

€1 Ca(OH)z + CO, —— CaCO;,l + H,0

(2) BC
(1) Sis €

= vE

(2) Si+2Cl, SiCl

(3) 4

(1) CaCOs; + 2HCI == CaCl,+H,0 +CO, 1

(2) KR B S TRAE B2 <UL 1

(1) FHE

(2) PE oK EFEZE 14 (RHEEHER
(1) IEA KA VE

(2) COp KR FibklR, 556 A8

(3) R/

MnO,

(1) 2H,0, =——= 2H,0+0, !
(2) HHREREARE KA, WHIREEXR AREE KA
(1) ZBERRE AT

(2) Ca(OH)z + Na,CO3 —— (CaCO3 | +2NaOH

(3) Fe>Cu>Ag

(1) /NIRAT

(2) I (EEERD

(3) RAOELH5RETTmMEEREA R (PIEESIER
(4) 2NaHCO; - Na,COs + H,0 + CO, ¢

(5) BRER AN MENBRIR SN, pH Thim i KO Rt 5225

(6) BC
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